
TECHNICAL DATA

APPLICATIONS CROSS REFERENCES

Nominal voltage 12V
Rated output 1,0kW
Rated speed 1 500mín
Static torque 15Nm

Pinion teeth number 11
Module 2,1167
Pressure angle 12°
Weight 3,1kg

1. FIAT
2. LADA

Bosch 0 001 208 218
0 989 011 910

Delco Remy DRS1910
Lucas LRS00286
Valeo 433279

HC Parts CS 139
Hella 8EA 4725 989-001

Fiat 4156064; 4474746; 4474747
4474750

KZATE 35.3708-01; CT 221128

-1

MAX. 177

MAX, 147

5,4 5

22 15,5

37

4°

31°

M8 (3x)

R10 (3x)
17°

IMPORTANT DIMENSIONS TO FIT ON ENGINE

STARTER MOTOR 9141 382

08 / 2012

, Hulínská 1799/1, 767 01 Kroměříž, Czech RepublicMAGNETON a.s.
Tel: +420 573 592 255; Fax: +420 573 331 239; e-mail: marketing magneton.cz; www.magneton.cz@

http://www.magneton.cz


BRAND MODEL ENGINE PRODUCTION
TYPE kW PS ccm YEAR

FIAT

LADA

131 1.4 Mirafiori 51 70 1 367 11/80 - 01/84
FIAT 131 1.6 (S) 55 75 1 585 10/74 - 09/81
FIAT 131 2.0 Racing 85 115 1 995 06/78 - 12/81
FIAT 131 1.4 Familiare/Panorama 51 70 1 367 11/81 - 01/84
FIAT 131 1.6 CL; AF1 Familiare/Panorama 55 75 1 585 03/75 - 12/78

1200 -1500 VAZ2102 44 60 1 198 09/73 - 08/84
LADA 1200 - 1600 L/S VAZ2101 54 73 1 285 05/70 - 06/86
LADA 1200 - 1600 1300 48 65 1 285 05/78 - 01/87
L/ADA 1200 - 1600 VAZ21011 51 69 1 294 08/74 - 08/84
LADA 1200 - 1600 VAZ2103; 2106 55 75 1 458 09/72 - 08/84
LADA 1200 - 1600 N/S 55 75 1 452 11/75 - 10/88
LADA 1200 - 1600 1600 58 79 1 570 09/72 - 08/84
LADA 1200 - 1600 1600 N/L 57 78 1 570 03/79 - 10/86
LADA NIVA 1600 2121 56 76 1 570 12/76 - 05/87
LADA NIVA 1700i 59 80 1 690 08/96 -
LADA NOVA 1200 2108; 2109 44 60 1 569 09/81 -
LADA Toscana 1500 VAZ2107 55 75 1 458 09/83 - 02/93

Použití spouštěče
Applications of starter motor 9141 382

9141 382 Strana 2 / 3
Page



1.0 Víko přední . . . . . . . . . . . . . . . . . . . . Cat. No. 1655630
Front cover

2.0 Náhon pastorku . . . . . . . . . . . . . . . . . . . . Cat. No
Pinion drive

2.1 Hřídel pastorková . . . . . . . . . . . . . . . . . . . . Cat. No. 3371330
Pinion shaft

2.2 Ložisko . . . . . . . . . . . . . . . . . . . . Cat. No. 324162032
Bearing

2.3 Ložisko . . . . . . . . . . . . . . . . . . . . Cat. No. 324165016
Bearing

2.4 Volnoběžka . . . . . . . . . . . . . . . . . . . . Cat. No. 7150970
Clutch

3.0 Víko převodové . . . . . . . . . . . . . . . . . . . . Cat. No. 6954940
Gear bracket

4.0 Spínač sestavený . . . . . . . . . . . . . . . . . . . . Cat. No. 7150870
Contactor assy

4.1 Víčko sestavené . . . . . . . . . . . . . . . . . . . . Cat. No. 7150810
Lid assy

5.0 Kotva sestavená . . . . . . . . . . . . . . . . . . . . Cat. No. 7150880
Armature assy

6.0 Stator s držákem kartáčů . . . . . . . . . . . . . . . . . . . . Cat. No. 7152001
Stator with brush holder

7.0 Víko zadní . . . . . . . . . . . . . . . . . . . . Cat. No. 1658400

. 7153320

Rear bracket

Poznámka
Note

1. Spínač sestavený je dodáván včetně 2ks šroubů M5x14.
Contactor assy will be supplied with 2 pcs screw M5x14.

2. Víko převodové je dodáváno včetně ložiska 6002 2Z a ucpávky.
Gear bracket will be supplied with bearing 6002 2Z and sealing.

3. Pastorková hřídel je dodávána včetně pružiny, zajišťovacího a pojistného kroužku.
Pinion shaft will bw supplied with shoting spring, stop ring and lock ring.

Náhradní díly spouštěče
Spare parts of starter motor 9141 382

9141 382 Strana 3 / 3
Page

1.0 2.0

5.0

4.0 4.13.0

6.0 7.02.22.1 2.3 2.4


